The university of Jordan  Calculus 11 Second exam 10 April 2016
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Q1: Find the area of the surface obtained by rotating the curve
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Q2: The base of the solid S is the region bounded by y = x* — 1 and R pEr
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y = 1 — x?. Find the volume of S if every cross section perpendicular to 2 =deth
the x-axis is a right triangle (i) &6 &dia) with its hypotenuse(5sh ) on 5. . 'l g
the base and one angle equal to 30°. C’&I\ &l =l
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Q3: Find the sum
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Q4: Set up the integral that gives the volume of the solid generated by

revolving the region bounded by y = x*, y = 27,x = 0 about the line

[

x =—3. 3
07 (a) Using washer method (Do not evaluate thelntegral) >
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(b) Using cylindrical shell method, (Do not evaluate the integfal).
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Q6: A sequence {a }'l whose sequence of partial sums is {Sn} , where
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